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Show all necessary working.
Neatness may be taken into consideration in the awarding of marks.

If you make a mistake, transfer the question on to the last page (blank) of this exam.

1. Evaluate TEN083 to 2 decimal places. 2)
(0] .

|

!!
2. The distance from Sun to the Earth is 149 494 000 km . Write this in scientific notation

correct to 3 significant figures. T Q2) -
3. A car is sold for $24300, which is a profit of 8% on its cost price. Find its cost f)ri.ce to the
@

nearest dollar.

4. Ifx=+a , find the value of 6a in terms of x. (1)

5 How many times must the number k be added to the number p to give a total of 4p + 3k?
@




€. Fully factorise these

i. 4m®-19m+12 )
il. 4% + 12y —xz—-3yz @
i, 48-27m’ ' ¥y
7. Simplify fully Lo '
i. (3% — 4)(4x +2x”- 5) 2) i @Fb)-(a-b) ? @
_ | )

. Jo8 + 3418 - 2412 ) v, (23+342)? )

8. 1. Raﬁonalise the denominator of 3 q )
3-4/2

3 0]
1. Hence find =+ m and n such that =m-+1 V2 (2)




i. (x-4)3-x)(2x+5)=0 ¢
I A P et A

e

Solve these for x .

2) i,

5x=18-2x”

@

iii,

x-3 x+4

| 2) .

[4+3)< =
S 2,

@)

V. V1+x? =1+x @ . VL |3—4x[=5x @

®)

10.

Solve (3 :5):“— 2+

AY

answer in simplest exact form)

PAY }
1 (leaving your




e

11.  Fully simplify these :

o1/ 6 3
1. 2 1. + 2
1-k / @ x> +125 x+5 () R —
:"
1
|
1
) 4 Jx +T
iii. + 3 v, ——X 3
x?-1 x*+x 3 x?-1 ®
I\
\.

12. Solve these equations simultaneously :
i. 3x=11+y and 8x+3y=18 (3) | ii. y=x- 4x and 3x-y-12=0  (3)
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ﬁ—ﬁ—ﬁ to 2 decimal places. )
60% ™

1. Evaluate

. ¥ q.¢
(i;é_g or ¥ q.59807186S--

B 750 (did not use brackeds i numereder)

2. The distance from Sun to the Earth is 149 494 000 km . Write this in scientific notation

correct to 3 significant figures, )
3 bash,
l’ q'q X lO ¥ g
— L1xw0o
4

anyfhing bstuotn [ and G-

3. A car is sold for $24300, which is a profit of 8% on its cost price. Find its cost price to the

nearest dollar. )
1oe¥% f% _ (maﬁk
&—¥$243c0 —5 X $225
(08 % =$24300 ¥ $Wad
| % = $225
\co% =¢22500
=
4. , Ifx= «/;, find the value of 6a in terms of x. (1)
D o
' Ga =6t

5. How many times must the number k be added to the number p to give a total of 4p + 3k?
N .
s @
ork
nk + = 4@3& < Im
nk = 3p+3k

" = 3p+3k

6. Fully factorise these . ,__moi“'l:
F(4m=4)(m-3)

i 4m* -19m +12 NG @
_ bt (Gm-3) - -
TN e DREET
M7y
ii. 4x + 12y - x2-3yz i 0 @
o) —z(r3u) & hwark %(‘%’
. X ——— .
(cr3w)(¢-2) s
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3(!6-qmz> *3(( )
¥ ‘]‘—3m)¢-_ﬁ
3 (b-3m)(%13m) (¢ +3m)—— —
7. Simplify fully
i. Bx—4)(4x +2x%-5) ) ii. (a+b)?-(a—b)? )
12+ 65¢% |8ac ~ 16~ B 420 A+ 2ot bz—[az—-Zo\\oHaZ]
6x3+ C‘,xz._ 3 420 at2ab + bz—az+ 2ab—b*
b
Tmarke % correck fest line expansion 4——3?
o ¥ correck Simfh@u&%@f\ ‘,‘.T‘.L"'—J’L— ¥ 26 Gﬁ"”e"’( bfaola.d;b
of ¥ correck simplification
iii. . 98 +3V18 - 2412 @ v, (23+342)? @
{(#9x{2 + 3% {27 2,53 AT +2:2Bx30Z +AF
AZ + W7 — 43 12 + 1286 +\¢
V6§Zz-4J3 3o+1286
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8. i Rationalise the denominator of 3T X e m P{.j bﬂ i@(Z)
943 & 3182
Q-2
= 943§z
7
ii. Hence find integers m and n such that -3 —=m+ny/2 (3]
. . 3-42 |

M=T,05F o ek from ()| meTad =3

)

(o eadn)



11. Simplify these :

9. Solve these for x ;
i. (x-4)(3-x)}2x+5)=0 ¥) i, 5x =18 -2x° ) N P 3
=4 x=3 xL=-25 215~ g =0 ) | mark: Ik @ s s @
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V * Ccﬁf_dHAj 1(:;\@('0116( oc 28
. %:}(14 @ v,  4+3x< -§23‘- @) el
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2 (x4 = | (x-3) Brlx<-Sx i ) v, \ ‘(3)
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v. T+x? =1+x ) vi. |3——4x -|=5x 3 * x*D(x'D \I:D:C"‘C‘X”—:IS
et} = (Y Brdx = goc 3—hoc= —SX -
H*OCZ _ H«Z:)Cﬁ’%l qoc=3 =~3 12.  Solve these equations simultaneously : '
V= DC=';L§ Tﬁ‘@—3\~ er3 i. 3x=11+y and 8x +3y=18 3) il y=x%-4x and 3x-y-12=0  (3)
X =0 Test e ‘S-;_-\g id-; B |\ SUBG) \f\@
| 3- 4| =605 fejeck 32 (2% $ec) =122 ©
1312 s 2wcules 1 Nodes Foc 3 1) 18 3 x4 — 220
; 2
hecegt % Lmank L ¥y ot G —33 =18 X =T 2= O
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